Join
o Sumit Sir Academy
Telegram Group

https://t.me/joinchat/eOAdTYpl
Hn1ljOWFI

@ www.sumitsiracademy.com CENLIINY G oAy


https://t.me/joinchat/eOAdTYpIHn1jOWFl

@ www.sumitsiracademy.com ECRVLILLEGS (i)



MAINS-Batch
Feb

= Direction (1-4): Study the

\ 8x 9X / viewed  following data carefully and
answer the questions:

\ . / registered  Data is about total views on an e-

commerce website on two

\ 8X - 2400 6X + 200 / Clicked different months Jan and Feb.

Out of total views, some register

register, some clicked on items
available on website. Out of total
x om0t purchase 1400 T viewers who clicked on items,
some added items to their carts

\ W—— Rl / FER—— on the website and out of total

and out of total viewers who

X - 500 Cancelled added items to the cart, some

purchased the items and out of

‘ total viewers who purchased the
Finally Dalsrad item some cancel the items.
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Feb

\ o

X / Viewed

\ 11200

/ Registered

\ 8X - 2400

6X + 200 / Clicked

\ X + 400

X +200 / Added to cart

X Did not Enhau s 1400

Purchased

X - 500

Cancelled

1

Finally Delivered

Q1. If out of total viewers
who added items to their

cart in Jan only 80% make
purchased, then what
percent of total viewers who
added items in the cart in
Feb did not make the
purchase? VRN .
AT PIC A gEI3HT P At
¥ SeT $ad 80% Wilad &,
d Bl # SI¢ H qEgu
Wigd a9 $d odi H A
%‘—T gfesrd 3 @GRt

A. 64% B. 56%

C. 54% D. 58%
E. 52%
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Jan

Feb

\ o

9X / Viewed

\ 11200

/ Registered

\ 8X - 2400

6X + 200 / Clicked

\ X + 400

X +200 / Added to cart

X Did not purchase 1400

Purchased

X - 500

Cancelled

Finally Delivered

Q2. Find the total viewers who
did not register in both the
months together

mé\ﬂ’fﬂgﬁaﬁww

DT T |

A. 2800 B. 3200
C. 2700 D. 2600
E. 2400
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Feb

\ o

X / Viewed

\ 11200

/ Registered

\ 8X - 2400

6X + 200 / Clicked

\ X + 400

X +200 / Added to cart

X Did not Erchan s 1400

Purchased

X - 500

Cancelled

1

Finally Delivered

Q3. Out of total viewers who
purchase the item in Jan, 25%
cancel their item, then which of
the followmg can be determme"

z-.'!zhﬁ G @ 25%%?:?@ Cal E
FT 3 7, fy Fufafaa & @

ﬁ?ﬁ?ﬂ Rysfzor Rrar o war 22

I: Finally delivered orders in Feb

as percent of total viewers who

added items to their cart in Feb.

II: Difference between cancelled

orders in both the months.

I1l: Total viewers who added the

items to cart in Feb as percent

of total viewers who clicked on

items in Feb.

A.Only I and Il

B. Only | and Il

C. Only Il

D. Only Il and Il
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Feb

\ o

X / Viewed

\ 11200

/ Registered

\ 8X - 2400

6X + 200 / Clicked

\ X + 400

X +200 / Added to cart

X Dldnoiafcluu s 1400

Purchased

X - 500

Cancelled

1

Finally Delivered

Q4. Which of the following is
the correct representation of
difference between total
viewers who viewed on the
website on both the months
together and total viewers for
whose order js finally delivered?

gfafaa # ¥ o991, $d

wfefafie 82
A. 15X + 200
B. 16X

C. 15X - 500
D. 15X + 500
E. 16X - 1000

«
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Direction (5-8): Study the following
bubble chart carefully.

Trust well, an EdTech company
60% wants to recruit candidates in six
departments - Content, Customer

percentage of candidtes selected

0% support, Design, HR, Marketing and

| w1500 Production which are assigned

"o different color bubble i.e. Red, blue,

©1%09 1 Black, Yellow, green and Violet

s e respectively shown below in bubble
- 850 chart.

so% #1200 The given bubble chart shows
- e1500 | humbers of interview that were
2 conducted and the percentage of
- , ‘ Y candidates selected in various
departments.
The percentage of candidates
selected are represented by small
colored circles (Red, blue, Black,

Yellow, green and Violet) given on
the x-axis.

0 500 1000 1500 2000 2500
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Trust_well, U USCH HUAl B8

- faur A [ I Yl ST
percentage of candidtes selected e 2 - Content Customer
support, Design, HR, Marketing
g;ﬁ'\’ Pro_g;uctlo% o \’fl?l"f'%FQ GI?I;_IT% T'%T
*1800 | 3roffq WA, HIdT, BIeH, Ui, g
*1600 | 3fY GIUGIC HHT: d9d dIc A
900 ﬁETCITTITIT%I

.iiZZ SHilear! &1 ufawa feamar

60%

50%

40%

30%

20%

10%

0 500 1000 1500 2000 2500 A &1’
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The table given below shows the ratio of humber of males to
number of females who are selected in various departments.

gﬁﬁnﬁmﬁwwﬁaﬁ? 3t @t e, o fafis

o Tafd § T SguTd =0T T g
Departments Males: Females
Content 5:4

Customer Support | 7:9

Design 91
HR 9:8
Marketing 322
Production 11:4

@ www.sumitsiracademy.com CEVCIILYCS (5 il



@ www.sumitsiracademy.com oowmow I @ ey _



percentageof candidies salactad Departments Males: Females QS. The total no. of
- e 52 candidates selected in
all six departments is
approximately what %

Customer Support | 7:9

50%

Design o1
40% S50 of total no of
® 1600 HR 9:8 .
- s | candidates
sso | | MaTKeting 3:2 mterwewed"

20%

#1200 | [ Production 11:4 H‘l-ﬂ'
® 1500

0 500 1000 1500 2000 2500 Gﬂﬂaa'r\ﬁ' aﬂ'

%WWW

A. 28%
B. 27%
C. 26%
D. 25%
E. 24%

10%
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. Departments | Males:Females| Q6. Find the difference
percentage of candidtes selected
- Content 5: between average number
Gistome SpoE [ 70 of males candidates
1 Do = selected in content,
a0% :i:: T = cus?omer .support,
- oo | i3 design, . marketing and
850 production department
20% Production 11:4
* 1200 and average number of
10% S female candidates
0% , , , . selected in content,
0 500 1000 1500 2000 2500 customer suppo rt' = R'
marketing and
production department.
A.56 B.64
C.36 D.63
E. 46
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. Departments Males: Females Q7. What is the ratio of
percentage of candidtes selected
T =3 total number of female
60% 2 . .
candidates selected in
50% ORI E SR [ 43 production and design
- 01800 | | DESION 5:1 department together to
) e1600 | [AR 53 total number of
30% os00 || - candidates selected in
s *50 : ' these departments?
N 16% ®1200 | | Production 11:4 TP IATY production ﬁ;
o u e WS design fauTmT o =af+a
. esign IdHNT 7
- , , Afeen I=figart Ft Fa
0 500 1000 1500 2000 2500 m ﬁ? gq m ﬂ'
qafAa SHitGar| &} Fa
HST ST SUTd T 82
A. 64:249
B. 34:249
C. 64:259
D. 34:259
E. 64:269
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. Departments Males: Females Qs. If 20% of the females

percentage of candidtes selected : z
| s 2w resigned from production
o department and joined in
50% ORI E SR [ 43 customer support
01500 | | DESION 5:1 department and 45% of

40% %

01600 | [HR 98 males resigned from
30% *900 marketing  department

Marketing 3:2 e .
- 850 and joined production
16% 2300 || Feacxchan 1 department, then what is
A u e the  percentage  of
= , ) , | candidates selected in
0 500 1000 1500 2000 2500 production department

out of total number of
candidates interviewed
for production
department?

A. 47%

B. 45%

C. 48%

D. 46%

E. None of these
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Direction (9-12): Read the following
50 information carefully and answer the
questions based on it.

e Four different companies W, X, Y and Z
40 purchased 80 units radioactive substance
35 per year from a radioactive substance
manufacturing company. Each company

30 signed a contract for different number of
25 years. The given graph, the vertical line
45 passes through centre of circle shows the
total amount paid in Rubbles by each

15 company in 1992 and the horizontal line
10 passes through centre of circle shows the
increase/decrease in cost of each unit of

> radioactive substance (in Rs.) Over the
0 contract period (Y — axis), for each country.
0 2 a 6 8 10 12 14 16 18 20 The cost of each unit of radioactive

substance either increased or decreased,
uniformly over the period for which the
contract is signed, for each company. The
number of years for which the contract is
signed is not more than 12 years, is an
integral value.
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The table given below shows the price of each unit of radioactive substance in
the final year of contract in Rs. for the given company. Where a, b, c and d is the
number of years for which contract is signed by the respective company.
ﬁaﬁmﬁﬁﬁma;mméamaﬁmﬁﬁ%ﬁaﬁ
UAH TPIS I HIAA T W TS T8 81 5181 a, b, ¢ 3R d 0 =t &I 8 ferg
HaTtd HUAT gRT SgaY UR g¥a1&R e ord 7

Company | Price ofeach unit in Rs. infinal year of contract
W 584 + 12a
X 316 +6b
Y- 750 - 46¢
Z 442 - 42d

Note: value given on X axis is 1/307200 times of their actual values.
(1 Rs. =96 rubbles)
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50 Q9. Find the difference
as between the costs (in Rs.) of
40 80 units for company X in
35 1992 and that for country Z in
” ° final year of contract.
= 1992 § Ut X & faw ok
" U S SfdH W AWz F
= ﬁf%%o 31Ul B B (3 H)
; & ST 3R T B}
0 A. Rs. 43600
0 2 4 6 8 10 12 14 16 18 20 B. Rs' 35600
C. Rs. 42000
Company | Price ofeach unitin Rs. infina year of contract D. Rs. 36000
W 584 + 12a E. None of these
X 316 + 6b
Y 750 - 46¢c
Z 442 -42d
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50 Q10. Find number of years for
as which company W signed the
contract is how much % more
or less than for which
° company X signed the

40
35
30

B project?

. ‘ g 7% o Rt 7o 9

e Sudt w A 3FEY WX

10

; gwer feu & 3O %
: 3fire a1 Bu & fray aut
0 2 a 6 8 10 12 14 16 18 20 m a; m X ﬁ- Wﬂ-
R gHeR fhu g2
Company | Price ofeachunitin Rs.infinal year of contract A. 12.5%
w 584 + 12a B.11.11%
X 316 + 6b C. 16.66%
Y 750 — 46¢ D. 18.75%
7z 442 — 42d E. None of these
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50 Q11. Find the average cost of
each unit of radioactive

40 substance for company X and
% ° Y taken together in final year
30

of contract in Rubbles? _
. wqd # ey & 3ifaw g o
20 B
. TP G HUAI X IR Y F
; Ysare werd @
: P 3NTd PIHT 10 B2
0 A. 42760
0 2 4 6 8 10 12 14 16 13 20 B. 42420
C. 42720
Company | Price ofeach unitin Rs.infinal year of contract D. 42520
w 584 + 12a E. None of these
X 316 +6b
Y 750 — 46¢
Z 442 -42d
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50 Q12. If company W signed the

as contract for (a - 2) years and

40 company Y signed the contract

35 for (c + 4) years, then find the

30 ° cost of each unit of company W,

2 in final year is how much % more

20 or less cost of each unit of

15 company Y in final year

i am%’t W3 (- gf fflhg

5 C’glﬂﬁ':‘l OY THl&R

0 HUA Y 7 (c + %‘_q & forg
g, @ 3

0 2 4 b 8 10 12 14 16 18 20 Y U eHIER .
3 fr oifm a8 & ST W o

TP THE P! BT 3ifaq ad &
Company | Price ofeachunitin Rs.infinal year of contract
= g T ¥ 3w gorid < i
&1 fpadt % st
X 316 + 6b A.7.35%
Y 750 - 46¢ B. 7.45%
7 442 - 42d C.7.15%
D. 7.55%

E. None of these
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